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Part 1.Reading (10 points)

Read the text and fill the gaps with the words in the box. Gap one has been done as an example.

() occupation () successful () embarrassment (' ) hobby.

() failure () solution (1) evening () secretarial

( )explanation () frozen () construction

Evening classes
Recently [ decided to goto (1)............... classes twice a week. During the day [ work ina (2)... ......... agency

as a telephonist. It is not a very interesting (3)............... and I get bored. I also got tired of coming home every evening,
puttinga (4)............... meal in the oven, and then watching TV. So [ decided to take up carpentry as a (5)............... .
Perhaps I should give you an (6)............... for my choice. Learning a skill is a good (7)............... to the problem of
boring work. Also, [ felt [ was a (8)............. because any time I tried to put up a shelf, for example, it always fell down!
Now I am quite a (9)............... wood-worker! T am working on the (10)............... of some furniture at the moment.
And although there are only few students in the class, I don’t feel any (11)................ . I’ve turned out to be the best

student in the class!
Part 2. Grammar (15 points)

Thete are four answers after each statement. Only one answer is correct. Choose the correct letter a, b, ¢, or d. The first
one was done as an example for you.

Example: Have you ...... b s comonn s my new car?

a- see b- seen c- seeing d- saw
1- Girls, you ............... say those things about your teachers.

a- mustn’t b- haven’t to c- haven’t d- mustn’t to
2- Have another piece of cake. No, thanks, ............... too much.

a- I've ate b- 1 ate c- I eaten d- I’ve eaten
3- 1 was going to do the washing, but the machine............... down.

a- broke b- breaks c- broken d- break
4- My secretary was late. She had never ............... late before.

a- was b- had c- came d- been
5- If you give me some money I ............... to go shopping.

a- can b- could c- will be able d- will can

Part 3. Vocabulary (15 points)

There are four answers after each statement. Only one answer is correct. Choose the correct letter a, b, ¢, or d. The first
one was done as an example for you.

Example: They ...... Covrrnnn all day swimming and sunbathing at the beach.

a- did b- used c- spent d- occupied
1- Before you begin the exam paper, always read the .............. carefully.

a- orders b- instructions c- rules d- answers
2- If you put your money in the bank, it will earn ten percent ................ ;

a. interest b. profit c. deposit d. investment
3- Most people in the town ............... the idea of Green and Clean city.

a. agree b. approve c. support d. believe
4- The plane was delayed by fog, andso I ................... my connection.

a. lost b. abandoned c. forgot d. missed
5- . The fans climbed over the fence to.............. paying

a- avoid b- prevent c- abandon d- refuse

Part 4. Writing (10 points) write an essay. There is too much traffic in the city. “What do you think the
authorities should do about it?” at least 80 words.
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Part I . Reading 10pts

2. secretarial

4. frozen

6. explanation
8. failure

10. construction

Part II. Grammar  15pts
1. a mustn’t
3. a broke
5. c will be able
Part ITI. Vocabulary  15pts
1. b instruction
3. c support
5 a avoid
Part IV. Writing  10pts
1. Content 4pts
2. Grammar 3pts
3. Spelling 3pts
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3. occupation

5. hobby

7. solution

9. successful

11. embarrassment

2. d I’ve eaten
4. d been

2. a interest

4, d missed
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I. (10 points) Compréhension écrite.
Complétez les mots « vraiment, mére, bus, accident, étudiante » dans le texte.
Avez-vous votre permis de conduire ?
- Yann : Chez nous, c’est une tradition, on ne conduit pas. Mon pére n’avait pas son permis de

conduire. Ma Zl) ............. si, mais elle n’avait pas de voiture ..... Moi je I’ai passé & 18 ans
mais j’ai eu un (2) ...eueenennn. quelques mois plus tard, alors je n’ai plus conduit. Jai eu trop peur.
Non, moi, maintenant, je prends le taxi, le (3) veoeeerneene ou bien je loue une voiture avec un
chauffeur pour partir en week-end.

- Marie : Non, je n’ai pas encore le permis. Je suis (4) ....vvvee... et je n’ai pas beaucoup d’argent.
Je passerai le permis quand je travaillerai dans deux ou trois ans! De toute fagon, je n’en ai pas
(5) cevvvennennnn besoin. J’ai un scooter et ¢a me convient trés bien.

I1. (16 points) Vocabulaire.
Soulignez les intrus.

Exemple : pére Jrére seeur mer meére
1. chemise veste chemin chemisier robe
2. rose verre noir bleu vert
3. boulanger essayer adorer aimer coliter
4. bras ventre langue genou thermomeétre
5. pharmacie mairie boucherie boulangerie librairie
6. amoureusement vétement librement pauvrement contrairement
7. framboisier olivier collier bananier caféier
8. Laos Malaisie Thailande Vietnam France

IIL. (14 points) Grammaire.
A. (06 points) Répondez aux questions en utilisant « Si », « Oui » on « Non ».

Exemple : Tu ne bois pas de café ? e , Un verre par jour.
— 8i, un verre par jour.
1. Vous n’allez pas au marché ? T ,je n’y vais pas.
2. Tu apprends le frangais ? " e ,J’apprends le francais.
3. Ta sceur n’aime pas faire des courses? - ............. » quand elle reste seule & la maison et elle

n’arien pour manger.
B. (08 points) Reliez les phrases A et B selon I’exemple.

A B C
1- Sa moto est en panne, a- C’est pourquoi il y a des inondations. | 1— d
2- On coupe beaucoup de foréts. b- les touristes veulent le visiter. 2—>
3- Comme le Cambodge a des c- parce qu’elle est tres fatiguée. Frp
patrimoines mondiaux, d- aussi faut-il faire la réparer. 4>
4- Ma mere n’a pas de bonne mine e- je m’amuse. S=>
5- Puisque I’examen s’approche, f- jerévise mes legons.

IV. (10 points) Expression écrite.
Depuis combien de temps apprenez-vous le frangais ? Pourquoi apprenez-vous cette langue ?

Rédigez le texte au minimum 80 mots.
L
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Part 1.Reading (10 points)
Read the text and fill the gaps with the words in the box. Gap one has been done as an example.

() occupation () successful ( ) embarrassment () hobby.

() failure () solution ( 1) evening () secretarial

(' )explanation ( ) frozen () construction

Evening classes
Recently [ decided to go to (1)............... classes twice a week. During the day | work ina (2)... ......... agency

as a telephonist. It is not a very interesting (3)............... and [ get bored. I also got tired of coming home every evening,
puttinga (4)............... meal in the oven, and then watching TV. So I decided to take up carpentry as a (5)...............
Perhaps | should give you an (6)............... for my choice. Learning a skill is a good (7)............... to the problem of
boring work. Also, 1 felt I was a (8)............. because any time | tried to put up a shelf, for example, it always fell down!
Now I am quite a (9)............... wood-worker! I am working on the (10)............... of some furniture at the moment.
And although there are only few students in the class, I don’t feel any (11)................ . I've turned out to be the best

student in the class!
Part 2. Grammar (15 points)

There are four answers after each statement. Only one answer is correct. Choose the correct letter a, b, ¢, or d. The first
one was done as an example for you.

Example: Have you ...... b......... my new car?

a- see b- seen c- seeing d- saw
1- Girls, you ........eveen. say those things about your teachers.

a- mustn’t b- haven’t to c- haven’t d- mustn’t to
2- Have another piece of cake. No, thanks, ............... too much.

a- ['ve ate b- | ate c- | eaten d- I’ve eaten
3- [ was going to do the washing, but the machine............... down.

a- broke b- breaks c- broken d- break
4- My secretary was late. She had never ............... late before.

a- was b- had c- came d- been
5- If you give me some money I ............... to go shopping.

a- can b- could c- will be able d- will can

Part 3. Vocabulary (15 points)

There are four answers after each statement. Only one answer is correct. Choose the correct letter a, b, c, or d. The first
one was done as an example for you.

Example: They ...... Covernnn. all day swimming and sunbathing at the beach.

a- did b- used c- spent d- occupied
1- Before you begin the exam paper, always read the .............. carefully.

a- orders b- instructions c- rules d- answers
2- 1f you put your money in the bank, it will earn ten percent ................ .

a. interest b. profit c. deposit d. investment
3- Most people in the town ........c....... the idea of Green and Clean city.

a. agree b. approve c. support d. believe
4- The plane was delayed by fog, and so I .................... my connection.

a. lost b. abandoned c. forgot d. missed
5- . The fans climbed over the fence to.............. paying

a- avoid b- prevent c- abandon d- refuse

Part 4. Writing (10 points) write an essay. There is too much traffic in the city. “What do you think the
authorities should do about it?” at least 80 words.
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Part].Reading  10pts

2, secretariral

4. frozen

6. explanation

8. failure

10. construction
Part II. Grammar  15pts
mustn’t
broke
5. C will be able
Part III. Vocabulary

1. b

3. c

5 a

15pts
instruction
support
avoid

Part IV. Writing  10pts
1. Content

2. Grammar
3. Spelling

</

4pts
3pts
3pts
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3. occupation

5. hobby

7. solution

9. successful

11. embarrassment

2. d I’ve eaten
4. d been
2. a interest
4, d missed
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L. (10 points) Compréhension écrite.
Complétez les mots « vraiment, mére, bus, accident, étudiante » dans le texte.
Avez-vous votre permis de conduire ?
- Yann : Chez nous, c’est une tradition, on ne conduit pas. Mon pere n’avait pas son permis de

conduire. Ma (1) ............. si, mais elle n’avait pas de voiture ..... Moi je I’ai passé a 18 ans
mais j’ai eu un (2) .veeveenenn. quelques mois plus tard, alors je n’ai plus conduit. J’ai eu trop peur.
Non, moi, maintenant, je prends le taxi, le (3) .evvenene .... ou bien je loue une voiture avec un
chauffeur pour partir en week-end.

- Marie : Non, je n’ai pas encore le permis. Je suis (4) vvevvvvvennne et je n’ai pas beaucoup d’argent.
Je passerai le permis quand je travaillerai dans deux ou trois ans! De toute fagon, je n’en ai pas
(3) sscrs +e++2000 bESOIN. J’al Un scooter et ¢ca me convient trés bien.

IL (16 points) Vocabulaire.
Soulignez les intrus.

Exemple : pére Jrere seeur mer meére
1. chemise veste chemin chemisier robe
2. rose verre noir bleu vert
3. boulanger essayer adorer aimer coliter
4. bras ventre langue genou thermomeétre
5. pharmacie mairie boucherie boulangerie  librairie
6. amoureusement vétement librement pauvrement contrairement
7. framboisier olivier collier bananier caféier
8. Laos Malaisie Thailande Vietnam France

IIL. (14 points) Grammaire.
A. (06 points) Répondez aux questions en utilisant « Si », « Oui » ou « Non ».

Exemple : Tu ne bois pas de café ? s 55 e , Un verre par jour.
— Si, un verre par jour.
1. Vous n’allez pas au marché ? " e, , jen’y vais pas.
2. Tu apprends le frangais ? % isaskshmansens , J’apprends le frangais.
3. Tasceur n’aime pas faire des courses? - .............. » quand elle reste seule a la maison et elle

n’arien pour manger.
B. (08 points) Reliez les phrases A et B selon ’exemple.

A B C
1- Sa moto est en panne, a- C’est pourquoi il y a des inondations. | 1— d
2- On coupe beaucoup de foréts. b- les touristes veulent le visiter. 2—>
3- Comme le Cambodge a des c- parce qu’elle est trés fatiguée. 3—>
patrimoines mondiaux, d- aussi faut-il faire la réparer. 4—>»
4- Ma mere n’a pas de bonne mine e- je m’amuse. 5—>
5- Puisque I’examen s’approche, - je révise mes legons.

IV. (10 points) Expression écrite.
Depuis combien de temps apprenez-vous le frangais ? Pourquoi apprenez-vous cette langue ?
Rédigez le texte au minimum 80 mots.
L=
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